| Bellwork Monday, May 19, 2014 |

1. State the degree of each polynomial.

a) 10x2 - 6x{14y) - 9x* +70 = Yth CX”’jQ .

b) —8a’bc* = g”\ J”ﬂr“

3. Factor using GCF:
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2. Write each polynomial in Standard Form then give it a name based on its degree
and number of terms.

a) —14+ 9%’ b) 9w
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C) 3—8x—6x? d) -95.3 .
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Expand each. Write your answer in Standard Form if there is only one variable.
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Factor each completely.

To be considered the
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Difference of Perfect Squares: 9. 9m* - 100n 10. 7y° - 112
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e Exponents must be even.
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e Coefficients and constants must be perfect squares.



